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148. x,y,z,w, X is 20% greate than y, y is 20% greater than z, w is 20%
less than x, how much percent greater of z is w? SA: 15.2%
(1.2*1.2*%0.8-1)/1=15.2% 49. one company is planing to display
some boxes, the first layer is one, the laster layer has 81 boxes, and
the every layer has one less row than the previous layer, and every
layer has square shape, ask the total number of boxes. I think the
answer is 912 812 772 672 572 472 372 272 1 SA: agree 50. the
problem about rent car, X company $15/day, $0.2/mile, the y
company $20/day, $0.1/mile, asked if rent Xcompany’ s car one
day, itwillneed $25?SA: 0 D OO0 0 0O OO 192.0 AD O OO
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2. x51. The toll for crossing a certain bridge is $0.75 each crossing.
Drivers who frequently use the bridge may instead purchase a sticker
each month for $13.00 and then pay only $0.30 each crossing during
that month. If a particular driver will cross the bridge twice on each
of x days next month and will not cross the bridge on any other day,
what is the least value of x for which this driver can save money by
using the sticker? A. 14B. 15 C. 16 D. 28 E. 29 SA:B 100Test [1 [J [
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